TH3407 A 036 (LER)

R RENFEHIS (A15) 2B B #H

Frx EISEHABE: 2059 b+
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
130100 |[7ZLNC A # 11,735
dbiEE 6,220 1,050 5,170 10 1. 080 972 1,404 864
LS 5515 1,485 4,030 15 1,242 1,620 1,080
130340 [/ £ICA LA 3 7,343
£E 3,323 3 33201 0.3 76
RiF 3,850 0 3,850 10 1,188 594
130400 15 % 890
= 800 0 800 10 - - - 1,728
HE 20 0 20 10 3,780
130600 [NACA a3 376
32 376 0 376 ] - - - 1,944 648
131100 [A 3 3 16,185
£ 16,185 6,180 10,005 15 1,080 648 1,696 432
131700 [Fr Y 3 41,345
Ik 2,725 700 2,025 10 810 702
BE 18,100 7,800 10,300 10 1,080 702 1,080 486
K& 11,980 3,830 8,150 10 1,134 205 1,296 540
EE 8,540 6,000 2,540 15 972 810 972
131800 |[[(F5 N AE % 2,335
EH 170 0 170 0.2 113
I BB 1,188 14 1174 3.6 Z, 808 3,024 1,642
EE 552 552 of o2 97 43
12 68 0 68 45 2,700 1,350
131910 [FHE 3 4,138
N 70 3 67 05 302 702 292
EE 30 10 20 05 270 270
il Ll 435 0 435 1 648 162
=l 1,693 110 1,583 5 1,350 648 2,700 324
IR 1,600 0 1,600 10 3,132 2,700
=il 20 0 20 05 162
131950 |4 % 5,401
EHY 2,351 422 1,929 3 1, 404 1,134 1,404 756
fE 100 0 100 3 864
133400 [L B R a3 26,020
£ 21,220 6,540 14,680 10 1, 458 432 1,566 432
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TH3407 A 036 (LER)

R RENFEHIS (A15) 2B B #H

Frx EISEHABE: 2059 b+
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
£EE 4,800 0 4,800 10 1,404 648
134100 [#A)1 B 18,687
E[E 1,137 270 867 10 1,620 1,620 1,296
®me 45 0 45 10 2,160 1,944
F 1,750 125 1,625 5 1,512 734 1,620 378
IR 13,075 3,840 9,235 5 1, 620 486 1512 594
= 680 680 0 5 1,296 734
= 5 1,700 1,140 560 10 594 648 540
134200 |F 1 ¥ 1,600
AFTO 1,600 0 1,600 10 - - - 1,026
134300 | A F ¥ 8,938
KR 108 8 100 4 1,620 1,836 1,296
£E 265 265 0 5 1,836 972
=B 30 4 26 2 864 864
®me 2,778 135 2,643 5 Z, 268 2,268 864
iR 551 40 511 04 162 162 86
= 2,150 230 1,920 0.3 76 70 65
= 1,463 0 1463 03 130 81
REAR 240 0 240 8 918
134400 [r<k g 14,851
EE 11,351 52 11,299 q 1. 404 1,080 3,564 454
®me 1,104 0 1,104 4 2,160 756
REAR 1,761 48 1,713 4 2,160 1,728 2,160 972
134500 [E—<> 3 11,073
£E 903 162 741 0. 15 54 65 54
iR 342 0 342 015 65 43
= 630 144 486| 0.15 54 38 22
= 5 586 0 586 0.13 19 11
134700 [&5HACL % 5,790
=50 3,525 1,140 2,385 5 1, 555 832 1,588 486
£E 1,830 60 1,770 10 2,981 2,722 2,268
®me 25 0 25 5 680 648
135100 [LNAIF A % 106
EH 30 0 30 2 2,268 1,188
32 30 0 30 2 2,160 1,944
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TH3407 A 036 (LER)

~

R RENFEHIS (A15) 2B B #H

Frx EISEHABE: 2059 b+
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)

= 10 10 0 Z 2,700

e 36 0 36 2 2,484 864
135500 |- = ¥ 639

Ik B 540 36 504| 0.18 130 194 81

£E 99 0 99| 045 378 346
136100 [MAL & a9 6,475

BE 1,250 65 1,185 5 Z, 484 1,944 2,484 432

= I 980 50 930 5 2,376 2,808 1,296
136200 | 5% ¥ 3,300

RiF 3,300 2,700 600 10 156 540 1,566 1,080
136210 | A—9 4> % 2,570

Ri& 2,570 0 2,570 10 - - - 1,944 1,274
136300 | BB ¥ ¥ 390

BERS 90 30 60 ] 432 648 108

fE 300 0 300 10 1,728
136600 [f=F4=E 3 7,240

dtiEE 4,000 4,000 0 20 2,090

EE 3,190 2,950 240 10 1,652 864 2,052 1,944
138100 | LLM=1F % 3,666

EE 282 25 257 5 3,240

32 2,718 41 2677 0.1 91 194 51
138500 |[LHLE m 4,780

R 4,780 618 4162 0.2 62 31 63 32
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TH3407 A 036 (LER)

R RENFEHIS (A15) 2B B #H

= ENFEiastiE: 284
(ERISHERESD)
fnfh fnfh EEHh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)

242320 (33 —ILk % 5,640

F 5,640 1,780 3,860 10 3. 672 Z. 808 4,104 2,160
242830 [ S\CYAC ¥ 4,000

F 4,000 1,860 2,140 10 4, 428 2,916 4,536 1,944
244200 [FAEBHD ¥ 6,731

= 310 310 0 5 3,240 2,376

T 1,960 22 1,938 5 4,644 4,860 3,240

FIEIT 4,421 4,293 128 [} 3. 780 Z. 700 4,860 3,240
244530 |EH 9 H% ¥ 1,345

ITED 1,070 1,048 22| 0.5 432 194 432

K& 275 75 200] 05 324 302 410 216
245220 | T2 ITT SAES 3 542

NI 542 186 356 0.3 324 270 324 270
245230 |[BIESES 3 365

P 365 310 55| 0.35 516 474
245240 |EA—R5EDS a3 142

L 46 16 30 2 2. 700 2,160
247100 |[7—J/LR A @ 380

LEdi 196 77 119] 8.5 14, 040 9. 504 11,880 8,640

50 184 0 184 8 5,184 3,888
247568 [FHh3AQY ¥ 3,710

B35 3,710 2,315 1,395 5 2.376 1, 620 2,376 1,566
248300 [EEHh 9 LVvA % 5,535

=50 885 0 885 15 4,428 1,512

B 4,650 1,132 3519 15.5 5. 184 Z, 808 5,400 2,808




SF34E07 A 031 (HHER)

F A R RS T S (AE5) BHE H

R EIbng e = 10.7 %
(S I E B B )
4, . EN7EH (kg o wh5E RIS
2 4 — — filik HLAL - — — — —
AH wY5E RIS FEM AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)

101 | RERT=\ 367 129 238 Kg | 1,296 141 fefdE 1,620 216
102 |[ZHEIZW 1,783 1,783 Kg g 2,916 315
111 |H"EITED 690 20 670 Kg | 540 432 & 1,242 216
113 | REROBH 47 47 Kg frJE 1,728 864
114 |5 -H 126 126 Kg R - 2,376 1,080
115 [/ 8 8 Kg Lo 2,700

117 [13n 896 22 874 Kg |&fE 1,620 108] fe i 3,622 108
121 [oixx 19 13 6] Kg |&EHE 648 Fof 432 324
134 [7=Z 636 410 226 Kg |&fE 1,500 800[ e 1,512 864
140 |DIT 18 18 Kg frJE 75,600 8,640
147 |EHZ O 70 70 Kg e 6,500 3,500
158 [N AED 440 17 423 Keg |5 756 B 2,052 540
201 |Vl 648 648 Kg F5EL 306 126
203 |[/h&HL 81 81 Kg FoR) 378 278
205 |RHL 405 405 Kg HUAR 648 540
206 [&iX 650 650 Kg A 756 309
207 [SAE 4 4 Kg JbvEE 594

208 [0k 663 663 Kg ] 1,404 216
209 |[IHH000 180 180 Kg AN 734 691
210 [iFA Vg 52 52 Kg [SR 4,860 1,620

212 |FHESD 143 143 Kg PSS 1,890 650
251 |[KAFESA 354 171 183 Kg [SHL 1,523 1,091[r 5 4,536 2,430
252 [WAEESA 124 124 Kg |mi57 2,549 2,279

254  |[&HIEESAH 615 94 521 Keg |m5 1,274 1,091|m 5 1,620 756
303 [HAZEW 143 30 113 Keg A 576 468[ FofE 648 459
305 |ERnok 1 1 Kg Lo 1,944

319 |&b5 524 321 203 Kg [SiR 767 T02| 5UA - B AR 918 864
332 |1 EA BPE 233 233 Kg E|RES 1,512 1,350
R EE] 15 5 10 Kg [#[E 3,240 [IIYE] 14,040 10,800
354  [1ZFEH 54 25 29 Kg [T 1,296 1,080 = 1,134 945
355 [HV 235 235 Kg REA . — 1,188 432
356 [LUA 120 10 110 Kg [ 1,620 J=8 1,080 972
357 |RHE 10 10 Kg HEE[E] 1,728 1,350
358 [KxH 10 10 Kg [ 1,188

401 [Hwp 247 247 Kg S 1,242 324
402 [H7pE 68 68 Kg B 4,860 3,132




PO T FR YL ISR T (AN Y) B H
SF34E07 A 031 (HHEH)

R EIbng e = 1.9 %
(S I E B B )

0 EN7EH (kg wh5E ERSENE]
o i L i o —— — - T -

AH wY5E RIS PEH AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)
507 |2—/LU ) 10 10 Kg FE 540
512 | M 70 70 Kg BIRES 1,000 780
523 | BT 2O 1,493 1,493 Kg FE T 4,200 827
524 |mETeE 2 Y 135 135 Kg EEpA 1,274 1,002
554 |XiE WA i 20 20 Kg BIRES 800
558 |FRfa 29 29 Kg Jbre 950
560 |WmE7-Z 110 110 Kg EEDA 2,130 1,450
576  [ERSS 80 80 Kg B[R e[ R3] 1,242 750




SF34E07 A 031 (HHER)

F A R RS T S (AE5) BHE H

M RERNE: 126 b (s 0 2B )
= B R ) i O e
S & R e T T e e O ) D
01 |505k 9,005 5,023 5.082] Ke  |JUk 1,365 647 ﬁ% e 1,158
705 [7-5<0 35 35 Ke T 1,004 1,134
15 |[LLob AT 33 i M R 2,502 780
751 | FETORD 57 57]  Kg e 748 396
755 |BHL 103 103| Kg i 874 853
756 [BHET 66 66 Kg T - kL 1,548 900
61 |H50DAZE 28 228]  Ke — 1,960
768 |[E= 5 o] Ke T= 1,044 540
S RS 1,338 1338] Ke T =
804 [EFT 1,160 1,160| Kg TE 648 410
805 [H=i3 106 406] Kg T 3,456 1,404
810 |WIAT 202 202| Ke TS 1,123
815 | BAZ 8 8] Ke




